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R2X[1] = 0.133, R2X[2] = 0.196, Ellipse: Hotelling's T2 (95%) R2X[1] = 0.488, R2X[2] = 0.151, Ellipse: Hotelling's T2 (95%)
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y R2X[1] = 0.0292, R2X[XSide Comp.1] = 0.61, Ellipse: Hotelling's T2 (95%)
R2X[1] = 0.0386, R2X[XSide Comp.1] = 0.29, Ellipse: Hotelling's T2 (95%)
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R2X[1] = 0.0396, R2X[2] = 0.0512, Ellipse: Hotelling's T2 (95%) R2X[1] = 0.0378, R2X[2] = 0.0535, Ellipse: Hotelling's T2 (95%)
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R2X[1] = 0.0307, R2X[XSide Comp.1] = 0.0601, Ellipse: Hotelling's T2 (95%)  R2X[1] = 0.0298, R2X[XSide Comp.1] = 0.0616, Ellipse: Hotelling's T2 (95%)



